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	Section A: Knowledge 

	Give an example of a pair of simultaneous equations
	


	Write an expression to represent:
 A number is multiplied by 6 then 5 is subtracted
	

	What is 
	

	When substituting into the quadratic formula, what are the values of ,  and ?

	                       



	Section B: Common Mistakes 

	Circle the correct first step to solve    

	
	
	
	




	Factorise     .    Circle one answer

	
	
	
	




	What is the turning point of            Circle one answer

	
	
	
	




	What is the turning point of            Circle one answer

	
	
	
	




	Section C: Problems 

	Q1.
Solve the simultaneous equations
5x + 6y = 3
2x – 3y = 12
Do not use trial and improvement.
You must show your working.
_______________________________________________________________________
_______________________________________________________________________
_______________________________________________________________________
_______________________________________________________________________
_______________________________________________________________________
_______________________________________________________________________
_______________________________________________________________________
_______________________________________________________________________
_______________________________________________________________________
_______________________________________________________________________
_______________________________________________________________________
Answer _________________________________________
(Total 3 marks)















Q2.
(a)  Complete the table of values for  y = x2 − x − 2
 
	x
	−2
	−1
	0
	1
	2
	3

	y
	 
	 
	−2
	−2
	 
	4


(2)
(b)  Draw the graph of  y = x2 − x − 2  for values of x from −2 to 3
[image: ] 
(2)
(Total 4 marks)
















Q3.
 
(a)     Factorise     x2 − 9x + 20
___________________________________________________________________
___________________________________________________________________
___________________________________________________________________
Answer _________________________________________
(2)
(b)     Solve     x2 − 9x + 20 = 0
___________________________________________________________________
___________________________________________________________________
___________________________________________________________________
Answer _________________________________________
(1)
(Total 3 marks)

Q4.
You are given that     (x + a)2 – 7 ≡ x2 + 10x + b
Work out the values of a and b.
_______________________________________________________________________
_______________________________________________________________________
_______________________________________________________________________
_______________________________________________________________________
_______________________________________________________________________
_______________________________________________________________________
a = __________________________________________
b = __________________________________________
(Total 2 marks)
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